Requirements check off.  This satisfies requirement X.
Penetrators are sized for a year

Check bytes versus bits

Ask conops if 4 hours is enough – check calculation

24-25 penetrators?  Need to fix in report

1.0 overview of lets
Conops says 6 gigahertz per………

Fix communication bit about data storage on Daedalus

Put all in overviews…. This is what customer reads

Focus on the “why” you are doing what you are doing

Put it up right in front…. 1.0 overview

PUT SUBSECTIONS IN INTRO, BODY, CONCLUSION

Kick ass executive summary

24 penetrators (say because of redundancy or because it may fail)

